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If a die is rolled once, then the .
probability that the appearance Baal 58 pe plitie 3 30 jaa A1)
number is 5 known that the ol Gle 0 sl | sels Jlaial lé

appearance number is odd equals
PP q st 538 palkall daall
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If A and B are two independent
events from the sample space of a
random experiment and P(A) =0.3
,P(B)=0.8

(1) Answer only one of the
following questions:
(1) Find :P(A-B)
(2)Find :P(AUB)
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If X is a discrete random
variable whose mean u =4
and its standard deviation

o = 3 ,then its coefficient of
variation equals
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Ifx=40 ,>y=30 o= gal ¢ = X oK1
Y xy=232 Y x%=360
S y2=200 ,n=8

find the regression line A=o. Yee= YoeX
equation Jlaniy) lad Alslae 2
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If Z is a standard normal variable
where P (Z = k) = 0.7324 , then the
value of k =

-0.73
-0.62




Statistical study the relation
between the ranks of two
academic subjects for seven
students and record the results in
the following table:

subject (x)
Excellent
Very good
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subject (y)
Very good

Calculate spearman’s rank
correlation coefficient between the
two subjects.
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If P(A) =~ ,P(A-B) =
,then P(B'|A)=

3
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If x is a discrete random variable
whose range is { 1, 2, 3}and its
distribution function is determine

by the relation f(x) = > then

ahiia Jlgde piia A~ WS 1Y)
@jjﬁ\ ‘U\éc{\' ¥ o)} =slaa
O L= (Ga)d A Jlaiay)

Y




If x is a discrete random variable its
probability distribution is given as

shown in the following table :
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Xi

-1

0

1

2

4

f(xi)

21
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Find the value of [ then calculate

the mean and the variance of the

discrete random variable x
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If is a continuous random variable
where :

FO) = {%(Zx—l) 1<x<

zZero otherwise

then:P(2<x<25)=
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The results of the study about the duan g aal) dasl) oy ABMad) Al oy Aie

relation between the quantity (y) - .
and the price (x) in LE is shown in ially (o) Le Aada s 5 ((02)
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Calculate the Pearson’s correlation O O Crgen s LS ) Jalae da gl o

coefficient between the two variables
and identify its type.
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2

If P(A) =2 P(B |A) =
, then P(ANB)=




If x is a normal random variable with
mean u = 10, its standard deviation
oc=2
Answer only one of the following
guestions:
DNP(x<12)
2) Find the value of k

such that :

P(x > k) =0.1065
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